Division de Nombres Entiers (H)

Trouvez chaque quotient.

56 +2 = 2058 +-49 = (—252)+6=
96+ (—8) = 1363+ (—47) = 1116+ (-31) =
120+ (-8) = 494 26 = (—1443) = (—37) =

11=1= (—646) — (—34) = 783 +27 =

12030 = 287 +7 = 560+ 14 =
(—1443) = (=37) = 1369 +37 = 154+11=
27 +(—1) = 351 +27 = 105+3 =
486+ 18 = 0+40 = 22+ (—11) =
(—12)=1= (—1932) +46 = (—984) 24 =

2205 = 940 +-20 = 36 - (—6) =
1512 +42 = (—=779)+(—19) = (—1634) 38 =
(—140)+7 = (—460) - 10 = 119+ (-7) =
336 - (—7) = 135+ (—45) = (—476) +~ (—34) =
203+ (=7) = (—384)+-8= 0=0=

280+ (—40) = (—1034) +47 = 1886 = 46 =
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Division de Nombres Entiers Solutions (H)

56+2 =728
96+ (—8) =—12
120+ (—8) = —15
I1+-1=11
120+-30=4
(—1443) + (=37) = 39
27 +(—1)=—27
486+ 18 =27
(—12)=1=—12
220+-5=44
1512 +42 =36
(—140)+7 = —20
336+ (—7) = —48
203+ (=7)=—29

280 (—40) = —7

Trouvez chaque quotient.

2058 +-49 =42
1363 + (—47) = —29
494 +-26 =19
(—646) = (—34) =19
2877 =41
1369 =37 =137
351+27=13
0+-40=0
(—1932) =46 = —42
940 +20 =47
(=779) + (—19) =41
(—460) + 10 = —46
135+ (—45)=-3
(—384) =8 = —48

(—1034) =47 = —22

(—252) = 6= —42

1116+ (=31) = —36

(—1443) = (—=37) =39

78327 =29
560+ 14 = 40
154+ 11 =14
105+3 =35
22+ (=11) =2
(—984) =24 = —41
36+ (—6) = —6
(—1634) =38 = —43
119+ (=7) = —17
(—476) + (—34) = 14
0+0=—34

1886 +-46 =41
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